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INSTRUCTIONS TO CANDIDATES

1. This question paper booklet is in two parts (PART-A and PART-B). PART-A comprises 50 objective
type questions, answers for which shall be made in Optical Response Sheet (ORS). One mark will be
awarded for each correct answer and minus one by three (—1/3) mark for each incorrect answer for
objective type questions. The unanswered guestions will not attract negative marks.

2. PART-B comprises 6 subjective type questions, answer for which shall be written in the space provided

in this question paper booklet. Candidates can answer subjective type questions either in Hindi or

English. Maximum marks for each subjective question is mentioned in bold font.

Questions have been set in English and Hindi, in case of discrepancy, the English version will prevail.

Read the instructions given in the ORS carefully.

Use a black pen only otherwise, ORS will not be evaluated.

Candidate must write Name, Roll No., Date of Examination, Booklet Code and sign on the ORS.

The candidate should check that the booklet does not have any unprinted or torn or missing pages or

questions etc. If so, get it replaced with another question paper booklet.

8. While marking your answer on the ORS, fully darken the circle. Answer once marked cannot be
changed.

9. Return the ORS and question paper to the invigilator after the examination is over.

10. Mobile and other Electronic Gadgets are prohibited in the examination. Watches of any kind are also
not allowed.

11. Use of unfair means in examination will lead to cancellation of candidature.

No ok~ w

CORRECT Method of Answering in ORS WRONG Method of Answering in ORS
ORS H JTR ¢ 1 gl il ORS H JTR ¢ BT Tefd aRiebl
D 0 ® &
» ® @ O© )
® ©® © O e -
®» ® © @ s €
» ® © ® .
Sufleart & fore srgemr

Tg UY UF YRKHT &1 U (PART-A T PART-B) H 81 PART-A H 50 TS UHR & Uy AW &, oHd I
3iffpera feeara e (SNRTw) H fou S| axgf TR & Ui & Udd Tt IR & Y Th i 3R D
e SR o ToT (—1/3) 3ieh U S| STaRd Usl R ABRIAD 3 -Tg] Al |

PART-B ¥ 6 AAfaItR® YR & U4 A §, o1 IR 39 U3 o gfkgert # fou 0 M wR fora o | afdamRas
UHR & Uil 1 IR &t a1 3ol # ¢ Uohd € | safaqurss Uy & o siftreraw sich Aie wie & Sfcafd g
fgumdt ush o oIS fawiifa 8 1 Rufar & Siosh faaror A grm|

ORs ¥ f3T 7Tu A= &1 &= 4 UG |

A DHId U BT YIART BY, 3GYT ORS BT oAb gl (hdT S|

ORS ®fie TR 30T 7, Jd FeR, Uten &t fafy, gt oI foRdeiR gxder &1

IrfieaR 1 Tg e 1feT fob 59 gk & B1S 3mfad a1 % a1 ddr gy ar uyenfe 7g 81 afe Y g, dr s
TG RYYIFITEA A |

ORS TR 30T 3R 3ifdrd B THY 39 Tiel Dl GRI ke Y HIAT B < | Th IR 3 IR DI Sadl Ta! o G|
TRYeT T 8 & §1€ ORS 3R Uy UF, Flerds &l dler €1

10. TRI&T T HATSd 3R 3 SAaei-dh oy afoid ¢ | fodt f R &1 afsal of off srgafa 78 5
11, gften & rgferd et & v ot fRufa & Sudieart 3 &R < sl
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PART-A
(Objective type questions)
UHR & UH)
Each question carries 1 mark

IS UH P 1 3h &

1.  If barren is analogous to fertile, identify the correct analogy to innocuous.

A. innocent
B. conspicuous
C. pernicious
D. guileless
2. Success gives only pleasure.
A. monumental
B. momentary
C. monotonous
D. momentous
3. Abstain alcohol. It’s dangerous you in your condition.
A. to, by
B. to, from
C. to,with
D. from,to

4.  Complete the following sentence by choosing the most appropriate option:

Although neither jacket is really the right size,

oo w»

the smallest one fits best
the smaller one fits better
the smallest one is better fitting

the smaller of the two fits best
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Read the following passage and answer questions 5 and 6.

Climate scepticism, or more appropriately, the denial of contemporary climate change and/or
its human causes, is, in many cases, a classic example of ‘cognitive dissonance’; that is,
when facts that challenge a deeply held belief are presented, the believer clings even more
strongly to his or her beliefs and may begin to proselytize fervently to others despite the
mounting evidence that contradicts the belief. This response may become even more
pronounced for the Anthropocene, when the notion of human ‘progress’ or the place of
humanity in the natural world is directly challenged. In fact, the belief systems and
assumptions that underpin neo-classical economic thinking, which in turn has been a major
driver of the Great Acceleration, are directly challenged by the concept of the Anthropocene.
Humanity has faced significant challenges to its belief systems from science in the past. One
of the most prominent examples in the recent past is the theory of evolution, first postulated
by Charles Darwin, which directly challenged the narrative of Christianity (and many other
religions) about the origin of humans. The notion, subsequently strengthened by further
scientific research, that we are ‘just’ another ape and not a special creation ‘above’ the rest
of nature shook the society of Darwin’s time, and still causes tension and conflict in some
parts of the world.

The concept of the Anthropocene, as it becomes more well known in the general public,
could well drive a similar reaction to that which Darwin elicited. Can human activity really
be significant enough to drive the Earth into a new geological epoch? There is one very
significant difference, however, between the two ideas, Darwinian evolution and the
Anthropocene. Darwin’s insights into our origins provoked outrage, anger and disbelief but
did not threaten the material existence of society of the time. The ultimate drivers of the
Anthropocene, on the other hand, if they continue unabated through this century, may well
threaten the viability of contemporary civilization and perhaps even the future existence

of Homo sapiens.

5. As per the passage given above, which option best represents the geological epoch that

is impacted by human activities?

The Anthropocene
Theory of Evolution

The Great Acceleration

oo w >

Home Sapiens
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6.  Which option is the main argument of the above passage?

A. Tt is better not to believe in climate change because, like Darwin’s theory of

evolution, it will provoke anger and unrest among global citizens.

B. It is better to remain doubtful about the effect of human activity on moving

the planet Earth into a new geological era.

C. Unlike Darwinian evolution, where one could afford to remain doubtful,
humans cannot afford to remain doubtful about the concept of the

Anthropocene, as their very survival as a species is at stake.

D. Humanity has always withstood the challenges posed by the scientific
community in the past. Believing in a God and a corresponding religion can

protect humans from any climate catastrophe in the future.

7. Complete the following sentence by choosing the most appropriate option:
Within the scientific community, the accomplishments of Sir Isaac Newton are referred

to more often scientist, living or dead.

A. thanany

B. than any other

C. than those of any

D. than those of any other

8. A boat can travel with a speed of 13 km/hr in still water. If the speed of the stream is

4 km/hr, find the time taken by the boat to go 68 km downstream.

TS 14 2Mid U1 & 13 fordi/der &1 fd I 9a gl 8| afe 4RT &1 71k 4 foreieer
8, 19 §RT YRT & 3% 68 fr S § T GHT F1d HIfoTT |

A. 2hours
B. 3hours
C. 4 hours
D. 5hours
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The angle of elevation of the top of a building from a point on the ground, which is
30 m away from the foot of the building, is 30°. Find the height of the building.

ST TR SHART & dd 9§ 30 Hier R U fog I TARA & MY HT IFI HIVT 30° B
YJ 1 SdTs J1d Dol |

A. 10m
B. 30\3m
C. ~3/10m
D. 30m

There are fifteen people in a conference. All of them shake hands with each other only

once at the end of the conference. How many handshakes will be there altogether?

TH JHT § Ugg a1 ¢ T & ofd § 9t Th-gik ¥ had Uh R 81y
forard 8| o e forda gs2® g

A. 210
B. 105
C. 90

D. 225

A hall is 15 m long and 12 m wide. If the sum of the areas of the floor and the ceiling

is equal to the sum of the areas of the four walls, the volume of the hall is

T gid 15 Hiex del 3R 12 Hiex IeT 21 afe B 3R ©d & QFhal ol A IRy

IR & AFHd! B TN &S SRISR ©, I it b I 2
A 720m3
B. 900m?
C. 1200m?
D. 1800m®
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12. Sonal and Manav started working on a project. Together they can complete the project
in 30 days. But after working for 16 days with Manav, Sonal left. Then Manav
completed the remaining work in the 44" day. How many days Manav would have

taken to complete the entire project all by himself?

THd 3R A4 A T Uioiae R HIH ST & 67| d fideH ieige &1 30 i1
A IR R Ahd g | Wfch AMT & A1 16 feT &1 I & 918 THd gl 1= | TR
A A 444 a7 4 9 S 17 {1 AFd &1 R Uioide &1 3fohdd TRT = | b
f&= &1 g2

A. 60
B. 20
C. 46
D. 55

13. Set A ={2, 3, 4, 5} and Set B = {25, 26, 27, 28, 29}. Two numbers are randomly
selected, one from each set. What is the probability that the sum of the two numbers

equal 30?

Set A = {2, 3, 4, 5} 3R Set B = {25, 26, 27, 28, 29} &1 U IUC Y Th Th HIdh
& =l &l Aefess U A AT o1 o | 39! T W § o aHl sl

BT AT 30 P SRR &7
A 02
B. 025
C. 03
D. 0.33
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14. Expenditures of a company (in Lakh Rupees) per annum over the years is given below.

fU3d $ auf # T HU- &1 Ufd a8 7 (@rg $9d ) = fear mn g |

Year | ltem of Expenditure @Hﬁﬁﬁlﬂ)
Salary |Fuel and Transport |Bonus Interest on Loans | Taxes

1998 288 98 3.00 20.2 83

1999 342 112 2.52 32.5 108

2000 |324 101 3.84 41.6 74

2001 |336 133 3.68 36.4 88

2002 |420 142 3.96 494 98

Total expenditure on all these items in 1998 was percent of the total

expenditure in 2002. Choose the most appropriate option to fill the blank.

1998 T 39 Tl fawy R ol Y 2002 H A G hl gfa=rd o1l Rea
R 1 WA & ol Jad Suged fddhed g |

A 62

B. 66

C. 69

D. 72

15. According to NEP 2020, what is the full form of ECCE?

NEP 2020 & 3J9R ECCE &1 Hd HIH &1 82
A. Education of a Caring Child in Elementary class
B. Elementary Classes of Child Education
C. Educational Classes for Caring Early childhood
D. Early Childhood Care and Education
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16. Which state passed the ‘Restriction on Transfer of Agricultural Land Bill 2023°?

fbd g 7 'HY Yy gxaiaror R ufaey fagge 2023 uiikd faar

A. Tamil Nadu
B. Goa

C. Odisha

D. Rajasthan

17.  Which Union Ministry has implemented Vibrant Villages Programme?

forg Feflg Hareg 3 agsc facois BrisH A fhar 82

Ministry of Home Affairs
Ministry of External Affairs
Ministry of Housing and Urban Affairs

o w >

Ministry of Rural Development

18. Which among the following rivers originates from the Amarkantak?

fafeiad 7 9 o9 It 7 siRees I Rodd 82

A. Betwa

B. Mahi

C. Narmada
D. Tapti

19.  Which schedule of the Indian Constitution divides the legislative powers between the

Union and States?

YR Tfaem &) S W g I9 3R Isdl & o9 legislative powers I
fuTfora Ft &2

A 6"
B. 7
c. gn
D. o
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Which river is associated with Sardar Sarovar hydroelectric project?

TSR WG Tdfdegd URareHT fd Tt I Trafid g2

A. Mahanadi
B. Narmada
C. Godavari
D. Luni

Pancheshwar Multipurpose Project (PMP) is a bi-national hydropower project

between

TR ggoeRia uidiern dieadhy ¥ i e gy wafdegd
URASHT B |

India and Bhutan
India and Nepal
India and Bangladesh

o w >

India and Pakistan

Find the wrong term in the following series. IBEINIEES! %j{9Ic1| T T7Id Ug ATd PIfoT|
MDH, NFE, OHC, PED, QBF

MDH
NFE
OHC
QBF

oo w»

Fill in the blank. Rad RIF &Y HX | 2,5,12.5, . 78.125, 195.3125

31.25
40.25
32.50
21.00

oo w»
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25.

26.

27.

Insect : Disease :: War :

o w >

Army
Defeat
Arsenal

Destruction

ROLL NUMBER:

Choose the correct option to arrange the words below in a meaningful sequence.

i fu 7T wree &1 T1efe A H rafRyd HA & o el fasen |

o w >

1. Word 2. Paragraph

4,15,2,3
4,1,3,5,2
4,251,3
4,15,3,2

3. Sentence 4. Letters 5. Phrase

A and B are brothers. C and D are sisters. A’s son is D’s brother.

How is B is related to C?

A3RBHR S CARDIEIEI ADBI I D B HE B

B, C ¥ g ypR Tefdd g2

EIMC, DKOD, CMQE,

A
B.
C
D

Sister
Brother
Uncle
Grandfather

CPSF
BOSF
COSF
COPF

, AQUG
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Theatre : Entertainment :: Temple :

o w >

Priest
God
Deity

Prayer

Which function key displays the print preview window in Microsoft Office?

B e Poit APt 3Hfthd # e gafadie fIe! ualRfa #wdt 87

o w >

Alt+Ctrl+F2
Alt+F2
Shift+F2
Ctrl+F2

Which of the following formulas, will MS Excel not be able to calculate?

faferiRad & 9§ food T I MS Excel TTUFT 81 R UTET?

A
B.
C.
D.

=SUM(AL - A5) - 10
=SUM(A1:B5)*0.5
=SUM(AL:A5)/(3 - A2)
=SUM(AL,A5) - A3

Which of the given combinations of keyboard keys can be used as a shortcut to open

paste special dialogue box in MS Excel?

fau U Fiare Hiowl 7 § ford FaeoH &1 UGN THEY TRid | IRe W9

SN §1dg Wie & fot Yidehe & U A fobar o gobdr g2

A
B.
C.
D.

Ctrl+V
Ctrl+Alt+V
Alt+Shift+V
Shift+Enter+V
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What is not a primary task of an ERP system?

SIRUT JUTTelt BT T o1 o el 82

A.  Marketing campaigns
B.  Purchasing
C.  Material management

D. Inventory

Webpages are saved in which of the following format?

aaUe Fofafed & 9 fod uRed & wg ofTd &2
A. http://
B. HTML
C. DOC
D. URL

Which of the following protocol is used to send the messages from one server to

another server?

TP GaR A g% Ak TR Yo ® JoH o fore Faferiad & & forg ticiaia &1 3udiT
foaT ST 82

A. HTTP
B. ARP

C. SMTP
D. IMAP

What is the shortcut key for a manual line break in MS Word?

THUY-d8 | BY3(d A3 9 & folu ATedhe ol 1 32

A. Ctrl+Enter
B. Alt+Enter

C. Shift+Enter
D. Space+Enter
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As per 7" Pay Commission, annual financial progression depends on

7d da SMNT & 3R, At foxitg ofa Ak St 8

Annual Increments

Horizontal range of the Pay Matrix

Vertical range of the Pay Matrix

Both horizontal and vertical ranges of the Pay Matrix

oo w>»

In the 7" Pay Commission, what determines the functional role in the hierarchy?

74 I 3T H, e H Prafds YT fhad grr Fufia &) e 82

Grade Pay
Horizontal range of the Pay Matrix

Vertical range of the Pay Matrix

o o w >

Both horizontal and vertical ranges of the Pay Matrix

The Income Tax Benefit for Employer’s Contribution under NPS Tier-1 is provided

under Section

TYeY femR-1 & dgd aiadt & aeM & folu 3 ary URT o dgd
e fhar ST g |

A. 80U

B. 80CCD(1)
C. 80CCD(2)
D. 80CCD(1B)
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Which of the following conditions is not applicable for sending a Government servant

in training and treat the period of training as duty?

forell TRHRT HHART DI URI&0 F Ao SR UiR1eor &1 3afd & St am - &

forg Fafefed & @ o 9 =rd arp et 8l 52

A. The training should be in India.
TRI&0T YRd H g1 Ao

B.  The training period should be more than one year.
TRI&0T 3afd T Iy ¥ $1fih gl Afg Ul

C.  Thetraining should be connected with the post, that the Government servant
is holding.
TTR&0T I U, J FST 8T A1, ST TRPR HHART 4RI HR BT 2|

D. The training should not be in professional or technical subjects which are

normally covered under the provisions relating to study leave.

UTR7&01 URIR AT deb-teb! AWt H Tl ST I1ET O 3 dR W 3T
IHT Y &TId Yrau™i & Sidvid 3d g |

Extraordinary Leave is granted to a Government servant due to his/her inability to join

or rejoin duty on account of civil commotion. The period of leave is counted as

qualifying for a grant of increment under

forlt TR HHARY DY AR §TH & HRUT St H WA S I SISRT A
B A T & BRI SRR el <1 Sl 81 gEl b rafd & ded

da gfs & o s & T u & AT S g
A.  FR26(a)
B. FR26(b)
C. FR26(c)
D. FR26(e)
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41.  Which Fundamental Rule does not deal with grant and regulation of increments?

D A1 A a9 97 3G & 3igaM R fafFom= 3 Jeftd =161 82

A. FR16
B. FR26
C. FR27
D. FR29

42. Under the Income Tax Act, 1961, depreciation on machinery is charged on

TR AT, 1961 & ded AR R Jeug™ RIS

A. purchase price of the machinery
ARIRT & @i g R

B.  written down value of the machinery
TR 1 forfed ged

C.  market price of the machinery
TRIRT BT IR g

D. revenue generated from the machinery

AT A I I

43. A Government servant may be required to subscribe to a provident fund, a family

pension fund, or other similar funds in terms of the provisions of

& AU & STIR Th WBHRT HHART &1 Hiasy (A, arivarie o1
T, a1 o g FIT ) GewIdr oF 31 STaRaddl ol gabd |

A. CPF/GPF Rules

B.  Offer of Appointment
C. FR16

D. PFAct
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The pay of a Government servant, whose promotion or appointment to a post is found

to be or have been erroneous, shall be regulated in terms of

O TRBR HHART o1 It a1 fordt ug WR Hgfad Tad TS oifdl § a1 &1 7S g,
JGDT A & R fafrafda fosar sme|

A. FR27
B. FR28
C. FR29-A
D. FR31-A

The right of a Government servant to traveling allowance including daily allowance is
forfeited or deemed to have relinquished, if the claim is not preferred within

a3 iR o vRgd e e o 2, O 3 R aiRd an o) @
BN HHART BT YR STed HR (TR ST AT AT AT AT JAT S|

A. 3 months

B. 6 months
C. 1lyear
D. 3years

Standards of financial propriety have been referred to in the GFR under Rule

SuweR AP % ded iy S F Al o1 Sk fhar 31
A 21

B. 22

C. 20

D. 19
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If a Department is unable to sell any surplus or obsolete or unserviceable item in spite
of its attempts through advertised tender or auction, it may dispose of the same at its

scrap value with the approval of the competent authority in consultation with

gfg His faum fasfua Ffaer ar amh & mem § o= gar & Savg [
TR T SYEferd a1 SUTNT a¥d &l oa- | Y §, Al 98 & R
T &M WRIBR B Tl o 1Y 30 WhU Hed IR 39H] (UeH &R qHhdT |

Legal Division
Accounts Officer

Finance Division

o o w >

Head of the Department

Which of the following is an important part of the National Pension System (NPS)?

Fofifad 7 3 1 a1 Ugha UeH goirel (TIUIey) 1 Ue He@yu! foedl 62

Asset Generation
Tax Collection

Fund Management

o w >

Healthcare Benefits

Section 11 of RTI Act deals with

RS o ot 4rT 11 J ISR gl

transfer of RTI application
rejection of RTI application
third party information
deemed PIO

o w >
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50. Purchase of goods on each occasion may be made on the recommendations of a duly

constituted Local Purchase Committee costing

TP AR TR ! AN aTel A Bt WRIG [Afad Ted RIF WXie
e ot RN IR SIS Fabd 5 |

A. above Rs. 10,000 up to Rs. 1,00,000/-

B. above Rs. 15,000 up to Rs. 1,50,000/-

C. above Rs. 20,000 up to Rs. 2,00,000/-

D. above Rs. 25,000 up to Rs. 2,50,000/-
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(Subjective type questions)
(CIRTIR® UHR & )

Dr. X, an Assistant Professor of IIT Roorkee, has drawn an amount of Rs. 45000/- on
20.01.2023 towards Travelling Allowance (TA) Advance for visiting Trivandrum on
official duty. He has booked the air tickets through ‘MakeMyTrip’. He has submitted
the TA Claim for settlement of the TA Advance on 15.03.2024, after repeated

reminders from the Institute.

LA TSB! D TETTD ThER ST X 7 MBI SIS TR Hasd o & forg
gET YA (A1) & =Y H 20.01.2023 &Y 45000 TGY &1 AR Fwret 81 IBH
AGATSICY & SINY g fedhe g T § | TR GRT IR-IR IS fGdM & 91T,
I T Teaiy & e & T 15.03.2024 1 ST a1 TRgd fha B

(i) Prepare a draft noting indicating the rule position for a decision of the Director.

=T o fora & fo o &t fRufd g=ifd g U Tial i daR &1
[5 Marks]
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(i) Prepare a draft letter to the Assistant Professor conveying the decision of the
competent authority with reasons.

Te™ WeR! & ol & SRl Afgd Idd gU Ted WHIR &I Th
TG 0F R &R

[5 Marks]
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Distinguish EOL (without MC), Unauthorised absence, and Dies-Non. Clearly
mention their impact on qualifying service for different purposes.

ST (@At & fon), sMfIGd ST iR SRu-AM ¥ 3R oI faftrm
TS o Tl Il YdT TR G1ch YHTG T WY Y J Feeid H |

[5 Marks]
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Write important provisions of the IIT Act and the Statute about faculty recruitment and

implementation of reservations in the faculty recruitment.
Thaee! Yl 3R Thdbee! Hdl H SREUT & URUTad & IR H sgamsc! g™
3R BT & Hgdqul wray ford |

[10 Marks]
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4 Write a detailed note on the impact of GST on different stakeholders.
fafia fRdeR®T IR STl & UHTd R Ueh fagd e ford |

[10 Marks]
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5 Explain the contents of bidding documents, under different heads.

faftrsr it & 3fafd Sich cxdas ot IRl 3t sars B |

[5 Marks]
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What are the five principles of public procurement? Explain how QCBS can be used

in procurement of services at 11T Roorkee.

ISR Wi & urd Rigid o1 82 §a1 i QCBS &1 SN R3Sl Tao!
A darafi o1 Wig & H fhar s IHar g

[10 Marks]
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